UNITED STATES BANKRUPTCY COURT DISTRICT OF KANSAS (KANSAS CITY)		ADMINISTRATIVE PROOF OF CLAIM		
Name of Debtor:  John Q Hammons Fall 2006 LLC				
THIS FORM SHOULD BE USED ONLY TO MAKE A REQUEST on the back of this form). DO NOT USE THIS FORM TO ASSI				
Name and address of creditor (and name and address where notices should be sent if different from creditor):  Westar Energy Inc  Attn: Bankruptcy Dept PO Box 208  Wichita KS 67208-0208 Telephone number: Email address: bkcompliance@westarenergy.com  Name and address where payment should be sent (if different from above):	D Check box if you are aware tha administrative claim relating to statement giving particulars.	anyone else has filed a proof of your claim. Attach copy of		
Telephone number:				
LAST FOUR DIGITS OF ACCOUNT OR OTHER NUMBER BY WHICH CREDITOR IDENTIFIES DEBTOR: 5145	Check here if this claim:  D replaces D amends	a previously filed claim, dated:		
1. Basis for Claim	DRetiree benefits as defined in 11 U.S.C. § 1114(a) DWages, salaries, and compensation (fill out below) Last four digits of SS#:  Unpaid compensation for services performed fromto(date)			
2. Date debt was incurred 06/26/2016	(date)			
3. Total Amount of Administrative Claim: \$5,846.29  D Check this box if claim includes interest or other charges in a statement of all interest or additional charges.  4. Credits:  The amount of all payments made on this claim must be credited administrative claim.  5. Supporting Documents: Attach redacted copies of any documents that support the claim, statements of running accounts, contracts, judgments, mortgages Attach redacted copies of documents providing evidence of perf (See definition of "redacted" on reverse side.)	and deducted for the purpose of such as promissory notes, purchas, and security agreements. You n	making this proof of use orders, invoices, itemized nay also attach a summary.		
Date:  Signature: The person filing this claim must sign it. Sign and print nan person authorized to file this claim and state address and phone number in Attach copy of power of attorney, if any.  07/15/16 DA Perren /Customer Account States.	f different from the notice address above.	FOR COURT USE ONLY		

Penalty for presenting fraudulent claim: Fine up to \$500,000 or imprisonment for up to 5 years, or both. 18 U.S.C. §§ 152 and 3571.

Case 16-21142 Claim 11-1 Filed 07/15/16 Desc Main Document Page 1 of 1

Westar Energy, Inc. does not retain copies of the actual invoices sent to our customers. The documentation attached hereto is the best evidence available to substantiate this claim.

# JOHN Q. HAMMONS FALL 2006 LLC 503(B)(9) Administrative Claim worksheet

16-21142-11

310 Hammons Dr Junction City KS xxxxxx7185

	Amount		Days of Bill	Daily Average		Final bill 20 day	
Customer Charge	\$	66.66	20				
Energy Charge	\$	1,397.81	20	\$	69.89	\$	1,397.81
Demand Charge	\$	2,331.64	20	\$-			
Fuel Charge	\$	1,576.05	20	\$	78.80	\$	1,576.05
Property Tax Charge	\$	162.13	20	\$	8.11	\$	162.13
Transmission Charge	\$	543.01	20	\$	27.15		
Environmental Charge	\$	-	20				
Energy Efficiency Charge	\$	17.05	20				
Franchise Fee & Sales tax	\$	710.23	20				
Total final bill excl bal fwd	\$	6,804.58		\$	183.95	\$	3,135.99

230 Hammons Dr Junction City KS xxxxxx2582

	Amount		Days of Bill	Daily Average		Final bill 20 day	
Customer Charge	\$	66.66	20				
Energy Charge	\$	1,208.07	20	\$	60.40	\$	1,208.07
Demand Charge	\$	3,997.09	20				
Fuel Charge	\$	1,362.11	20	\$	68.11	\$	1,362.11
Property Tax Charge	\$	140.12	20	\$	7.01	\$	140.12
Transmission Charge	\$	930.87	20	\$	46.54		
Environmental Charge	\$	-	20				
Energy Efficiency Charge	\$	14.74	20				
Franchise Fee & Sales tax	\$	1,476.28	20				
Total final bill excl bal fwd	\$	9,195.94		\$	182.06	\$	2,710.30

Total bal fwd	\$5,846.29

## **District of Kansas Claims Register**

#### 16-21142 John Q. Hammons Fall 2006, LLC

Judge: Robert D. Berger Chapter: 11

**Office:** Kansas City **Last Date to file claims: Trustee: Last Date to file (Govt):** 

Creditor: (8513366) Westar Energy Inc Attn: Bankruptcy Dept PO Box 208 Wichita KS 67201-

0208

Claim No: 11 Status: Original Filed

Original Entered

Date: 07/15/2016

Filed by: CR

Date: 07/15/2016 Entered by: Debra Perren Modified:

Amount claimed: \$5846.29

History:

**Details** 11-1 07/15/2016 Claim #11 filed by Westar Energy Inc, Amount claimed: \$5846.29 (Perren, Debra)

Description:

Remarks: (11-1) 503(B)(9) Administrative Claim

### **Claims Register Summary**

Case Name: John Q. Hammons Fall 2006, LLC

**Case Number:** 16-21142 Chapter: 11 **Date Filed:** 06/26/2016 **Total Number Of Claims: 1** 

<b>Total Amount Claimed*</b>	\$5846.29
<b>Total Amount Allowed*</b>	

<sup>\*</sup>Includes general unsecured claims

#### The values are reflective of the data entered. Always refer to claim documents for actual amounts.

	Claimed	Allowed
Secured		
Priority		
Administrative		